TCP IPUOODUODODOODODODLDODODO@M)PDFOUOOO
Jo0ooooooooooon
https://www.100test.com/kao_ti2020/136/2021 2022 TCP_IP_E7_
BD 91 E7 c97 136105.htmI 0000000000 OODOO
Jododoboooooodobooouooouoooooa
DOo00o00o00d00Ocprocess OO OOOOOOOOMO
Joodooooo?00oooooooood
Ocprocess DO 0 OO0O0OO0OO0OOOOOOYO0OOO
D000 oooodooooboooo,0boooooa
Osid0d D0 00o0doooooooooouooo
[Jc_processt] O OO O OOMOO O pided O buf->cpiddd O O O
Jo0o00odooododouododdepidt 000
OO0 0Omtypeld OO OOOOc processt] O OO O OO O gid2
JO00000Omypel DO O OOOOpided OO, 0000

ODooo0dboodfOdece_process DOOODOOOMI) r—

— | Server p———4 ===y o 11
|th_5| r————-l tcp_c |——| | c_processz| | | r——

it L e S N
| s process | r———+L9 | | r—-qtpel| | r—-—

~——| | loooo| | oooo] || | @k-v
—4 | | eprocest] | | L—g—p—d Lomopd |
R e e L TR RS T T

LT E=a fr O | r==d | r=q tepsif -

——2 e Pl r==7ra0] | k-
|| ==+ 0| || ]| qid3] |-



————— O O T I o B N R s
1 rtwps2f—+———4 [ | F==F+—4 [ | ||
gidd| +-—4 | Fq | r=—=—7 | | [ gid2| +—
S e e N I N LS
—Lod | | Le———1 | L_{client2| | L———
-4 clientt | Lm0 ——— —— — 112 L
- —_—— 1 030000000

Jo0odoooooodooooooooooooood
J0odoboooooodoooooooooooooa
Jodo@Euododououoooood

[1 :shm_login(cportl,cport2,client addr)0 OO0 OO0 00000
Jodododooog,0obfag 00’ v oOodo
0000000 0ooUoodondiddshm_logout(id)
Jo0o0dobddbodobooouooooooo,ood
OO00000000shm_info(id,type)d U typed U O idJ O [
000000 typed GETS1O O O O O O s_socketld O O
Otypeld OGETLINKNO O OO OOOOOOOO

[J shm_Oupdate(id,s _socketl,s socket2,linkfl,linkf2)d OJ (I 1d] [
Jo0oo,0000o0ooooooooood

[ shm_Oupdate(n,s2,0,1,0)00 O U s_socketl linkfld O O O O
J000o00o0oo0oodooooooooooooon
Jododobooboooodobodoqd3doooonod
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sbuf=&amp.sbufl. qid3=msgget(MSGKEY 3,02000).
msgctl(gid1,IPC_STAT,sbuf). sbuf->msg_qbytes*=2.
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